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HEAETH T — F 32260
HERATF % B % AT 208500 % 34
o ERERE
B
E% | YAEEEH BEZH EiEEH REX
8 376 | A 4 816 3 560 | A| 57 50 |%
. 4 REEY 2 823
HERREEN 1, 966
FHEERBEEY 25
8 581 | A 4 757 3 824 | A| 55 44 |%
% uEREEY 2 643
HERREEY 2, 094
FHEERBEEY 20
7 16, 957 | A 9 573 /7,384 \A| b56.45 %
Feg)
E% | SAEEEH BEZH EiEEH REX
g 4 |A / 3 |A|l 2500 |%
kg 11 / 10 9. 09
5t 15 2 13 13. 33
A5 (EH+EHN)
E% | SAEEEH BEZH EiEEH g
g 8 380 | A 4 817 3 563 | A| 57 48 |%
kg 8 592 4, 758 3 834 55. 38
7 16, 972 9 575 /, 397 56. 42

XREBRADHER, BENDRAFKIZEHEL (A4HR) ICLEYITS5 &,




SH7TETA20B8 T F2710SEREE EEEF
FERBELHE HARKKRREHER

o SHAEEH (N BREEH (A) REE ()
=B 5 2 &t 5 2 &t 5 2 B
F1IHREX 749 134 1,483 389 392 181 51.94 53. 41 52. 66
F2HREX 1,695 1,610 3, 305 916 819 1,735 54. 04 50. 87 52. 50
FEIREKX 293 291 584 158 156 314 53.92 53. 61 53. 71
F4ERERX 2,185 2,198 4, 383 1,322 1,282 2,604 60. 50 58. 33 59. 41
FES5BREK 1,289 1,468 2, 151 805 818 1,683 62. 45 59. 81 61.04
£ REX 1,029 1,097 2,126 643 642 1,285 62. 49 58. 52 60. 44
FIEREKX 858 934 1,792 436 470 906 50. 82 50. 32 50. 56
F8HREKX 218 249 521 147 118 2695 52. 88 47. 39 50. 28
E R 8,376 8, 581 16, 957 4,816 4,751 9,573 571.50 55. 44 56.45
TR 4 11 15 1 1 2 25. 00 9.09 13.33
=it 8, 380 8,992 | 16,972 4,817 4,758 9,575 5/.48 59. 38 56.42
o HERFEH(N) HHAEER THEEEER
== 5 LS &t 5 LS & 5 LS B
%1 HRERX 251 239 490 137 149 286 1 4 5
F2BREKX 495 417 912 419 400 819 2 2 4
FIREX 99 92 191 58 61 119 1 3 4
FA4BREX 184 703 1,487 534 513 1,107 4 6 10
FES5REX 466 502 968 328 375 703 11 1 12
FREKX 405 396 801 235 244 479 3 2 5
F7HRERX 221 231 458 206 231 443 3 2 5
F8REK 96 63 159 51 59 106 0 0 0
E R 2,823 2, 643 5, 466 1,968 2,094 4,062 25 20 45
N E 1 1 2 0 0 0 0 0 0
=k 2,824 2, 644 5,468 1,968 2,094 4,062 25 20 45




